NO. | K=z S HFF Eofh [# % (AFEB |kmEza i DR |F 6|1 0R |BREE (a7 (E6ne|S5E |FRMENE (@ | |2023fFF
1 BHHE BE EFR-HR E ¥ 30 7 £E (& | |R 35 |3 6-8 |x @) O 2.9
2 BHMHE BE ER-HA Es| #® 1 2E |2 |& |BE x - X x |0 |0 O |10
3 BHBE £ &7%-ICT = ¥ 20 4 £E (& | |R 35 |3 6-8 |x @) O 3
4 BHBE £ &7%-ICT = #a 1 2E (£ [E |BER X - X X o |[O o |-
5 BHHE £ BH-RE E ¥ 16 3 £E (& | |R 35 |3 6-8 |x @) O 33
6 BHNHE BE BH-RE E3] # 1 2E |2 |& |[BHE x - X x |0 |0 O |2
7 BHBE BE BH-EE = =2 30 3 2FH |2 | (B 35 |3 6-7 |x @) O -
8 BHBE BE BH-EE E #a 1 2E |2 (& [BE X - X X o |[O O |38
9 BHBE BE B -FR 3] #® 1 2E |2 |& |BE x - X x |10 |0 o |7
10 |BHMHEE £ BB E3] & 30 7 £E (& | |R 35 |3 6-8 |x @) O 2.2
1| BNEE £ BH-RE E3] & 30 7 £E (& | |R 35 |3 6-8 |x @) O 15
12 |BHNEE BE BH-RE E #a 1 2E (£ [E |BER X - X X o |[O O |2
13 |BHMHEE £ &BH-EE E ¥ 60 17 £E (& | |R 35 |3 6-8 |x @) O 18
14 |BHMEE £ &BH-EE E #® 1 2E (£ [E |BER X - X X o |[O O |6
15 |BHMHEE £ BH-E-H E ¥ 76 24 £E (& | |R 35 |3 6-8 |x @) O 2.2
16 |BHHF BE BH-E-H E #a 1 2E |2 & [BE X - X X o |[O O |14
17 |BHMEE £ EBB-HR E3] ¥ 7 19 £E (& | |R 35 |3 6-8 |x @) @) 2
18 |[BHMHE BE EE-E 3] #w 1 2E |2 |& |BE x - X x |10 |O O |12
19 |BHMHEE BE B4R E ¥ 10 3 £E (& | |R 35 |3 6-8 |x @) O 2
20 |BHHBE £ B4R = #a 1 2E (£ [E |BER X - X X o |[O O |6
21 |BHHE BE 3l ES E B 30 5 £E (& | |R 35 |3 6-7 |x @) O 15
22 |BHHBE BE ESCRSES E #w 1 2E |& |& |BE x - X x |10 |O O |15
23 |BHHE BE BH-RIK = =2 60 9 2FH |2 | (B 35 |3 6-7 |x @) @) 3.6
24 |BHHBE BE =75 RIK E #® 1 2E |2 |& |BE x - X x |10 |O O |2
25 |BHHE BE EX%-BAE E ¥ 23 5 £E (& | |R 35 |3 6-8 |x @) O -
26 |BHHE BE EX-BAE E #a 1 2E |2 (& [BE X - X X o |[O O |5
27 |BHHE BE B LER = ¥ 15 2 2FH |2 | (B’ 35 |3 6-8 |x @) O -
28 |BHHE £ 8- LR = #a 1 2E |2 (& [BE X - X X o |[O O |15
29 |BHHBE £ BB E ¥ 84 24 £E (& | |R 35 |3 6-8 |x @) O 2
30 |BHHBE BE =5-ER Es| # 1 2E |2 |& |BE x - X x |10 |O O |10
31 |BHHKE £ BXRE-HH E ¥ 60 15 £E (& | |R 35 |3 6-8 |x @) O 1.4
32 |BHHE £ BXRE-DE = =2 50 15 £E (& | |R 35 |3 6-8 |x @) O 3
33 |BHHE BE BXHE-E = ¥ 20 6 2FH |2 | (B’ 35 |3 6-8 |x @) O 2
34 |BHHBE £ EEAES E ¥ 17 5 £E (& | |R 35 |3 6-8 |x @) O 1
3B |BHHEE £ =%-EE E ¥ 10 2 £E (& | |R 35 |3 6-8 |x @) O 15
36 |BHHEE BE =E-BE = =2 14 2 2FH |2 | (B 35 |3 6-8 |x @) O 2.5
37 |BHHE BE B o E ¥ 9 2 £E (& | |R 35 |3 6-8 |x @) O 15
38 |BHHBE £ =R E ¥ 24 7 £E (& | |R 35 |3 6-8 |[x @) O 2.7
39 |BHHBE £ X E B 30 6 £E (& | |R 35 |3 6-8 |x @) O 2.6
40 |BHHBE BE X E # 1 2E |2 |& |BE x - X x |10 |O O |45
41 |BHHBE BE b= E ¥ 40 10 £E (& | |R 35 |3 6-8 |x @) O 6.2
42 |BHHE £ b= E #a 1 2E |2 (& [BE X - X X o |[O O |11




NO. [KZ s HFF Eofh [# % (AFEB |kmEza i DR |F 6|1 0R |BREE (a7 (E6ne|S5E |FRMENE (@ | |2023fFF
43 |BHIET SMEFE RS 2 g 90 9 'R (& (& (B A 1 x x |10 |O (@] 3.2
44 |BHIEL SVEFE ER S N = 90 12 2E |2 (& [BE X - 3-3  [x O 49
45 |BHIRIL SMEZE ERf 2 = 55 7 2E |2 (& [BE X - 3-3  [x @) 4
46 |BENEL SEEE E S 2 = 55 3 'R (& (& (& A 1 x x |0 |O (@] 3
47  |BHET SEEE FE 2 = 50 3 'R (& (& (& A 1 x x |0 |O (@] 1
48 |BHIRIL SMEFE FE 2 ¥ 50 6 2E |2 (& [BE X - 3-3  [x @) 2.3
49 |BHET SMEFE 3-2 2 g 55 4 'R (& (& (& A 1 x x |10 |O (0] 1.4
50 |(BHIBIL SMEZE 3-X 2 ¥ 55 7 2E (£ [ |BE X - 3-8 [x |O 2
51 |B&EL SMEEE 3-F 2 g 45 3 'R (& (& (B A 1 x x |10 |O (@] 1.3
52 |BHIRIL SMEFE 3-rF N ¥ 45 6 2E |2 |& [BE X - 3-3  [x O 2.8
53 |BEIEIL SEE 3-2 2 = 45 3 'R (& (& (& A 1 x x |0 |O (0] 3
54 |BHIRIL SMEFE 3-7 2 ¥ 45 6 2E (£ [E |BE X - 3-8 [x |O 12
55 |B&IEIL it ik 2 = 90 15 'R (& (& (B @) 2 X x |0 O |O 2.4
56 |[BRIEIL i & 2 = 90 25 2E |2 | |B X - |67 [x |O O 2
57 |BHIRIL HBERUL BE - INER 2 ¥ 15 2 R (£ | |B® 39 |1 x x O O |O 35
58 |BHIRIL HBEEUL BHR-RY 2 ¥ 25 2 R (£ | |B® 39 |1 x X e) O |O 4
59 |B&IEL BEBIUL 113 2 = 50 5 'R (& (& (& 39 |1 x x |0 O |O 2.8
60 |BEIEL 1EHREF 1&F 2 = 90 3 BN |Erm|E (] x - |45 [x |O O |O 4
61 (BB IFHRFF 15 2 ¥ 90 15 2 |BE & (R x - 6-7 |[x O O |O 1.3
62 |BAIESL A&t EE 2 & 50 5 BN | | (8] @) 1 X x |0 O |O 3.6
63 |[BHIEIL BAX{t FEXX N ¥ 50 5 BR (£ & |R X 1 x x O O |O 44




PN S 25 EXFh (#% |AFES[eEEa | [HR | 6#[(H R |BEE |[wee|fT  |Enh|EE PR/ (EiE [ (2023153
BRI EAM | TR BE 2 “® 4 2E |2 |& |BE x - X x |0 |O (@]

BB EAM | TR B-1E 2 “® ET |2E |2 | |BE x - x x |0 |O (@] 2
BRI EAM | TR BT 2 = 20 =T |2E |2 | |R x 5 x x |10 |O O O |9
BRI XA | TR B|EK 2 = 15 3 2E |2 | |B x 2 x x |10 |O O O |18
BRI EAM | TR el - & 2 = 2 =T |2E |2 | |R x 1 x x |10 |O (@] 3
B AN IR I | EM TI-T 2 #a 8 2E (£ [E |BE x - X x |O @) 5.7
BRNR XL AT | EAMT TI-K 2 “ 2 2E |2 |& |BE x - X x |0 |0 O 2
B AN IR I | EM FTI-A 2 # 2 2E (£ [ |BE x - X x O |O O 8.3
TR0 LA | EM %-A 2 “® ET |2E |2 | |BE x - x x |0 (@]

TR0 LA | EM 37 2 “® ET |2E |2 | |BE x - X x |0 O |O 7




NO. | K=z S HFF Eofh [# % (AFEB |kmEza i DR |F 6|1 0R |BREE (a7 (E6ne|S5E |FRMENE (@ | |2023fFF
74 |EBEEfTREEZ (T b -Ed T = g 80 5 2E |Ter(E |I]R X - X X O O |[O O 1
75 |BREMRE|T SE-EfHT 3] ¥ 80 15 £EFE (mewe|E || X - X X o |0 [0 |o 2.2
76 | BREEMRE|T BT 3] ¥ 80 4 2 |I#H [T (R X - X X o |0 [0 |o 24
77 |BRERmRE|T 1 3] =2 80 15 2 |B® & (R X - X X o |0 [0 |o 2.2
78 |BREMRE|T BE-Hm 3] ¥ 80 15 £EFE (mewe|E || X - X X o |0 [0 |o 2.2
79 |EBEMREE|T BE-HH 3] ¥ 80 3 £E (trie|E |} X - X X o |0 [0 |o 47
80 [BIEHTHZE (T 1BEIT 3] ¥ 80 4 £EFE (mewe|E || X - X X o |0 [0 |o 2.3
81 |[BiEHTHZE (T BEIT 3] ¥ 80 15 £EFE (tewe|E || X - X X o |0 [0 |o 2.2
82 |BIEHfTHZE (T BERT 3] ¥ 80 4 2 |I#H [T (B X - X X o |0 [0 |o 2
83 |[BIEHTHZE (T BERT 3] ¥ 80 15 £EFE (mewe|E || X - X X o |0 [0 |o 2.2




NO. |XKZ S 25 Eofh [# % (AFEB |kmEza i DR |F 6|1 0R |BREE (a7 (E6ne|S5E |FRMENE (@ | |2023fFF
84 |BHE E E 3] =2 100 10 2FH |2 |& (B x 1 6-8 |x O O 3.7
85 |&HE E ®iEg-5 E = 80 35 £E (& | |R X 2 6-8 |[x O O 15
86 |[&HE E RiE-1% E = 40 15 £E (& | |R X 2 6-8 |x O O 19
87 |&HE E RE-1E E = 20 7 £E (& | |R X 2 6-8 |[x O @) 1.3
88 |[&HE E REE-1K E = 40 10 £E (& | |R X 2 6-8 |x @) O 2.7
89 |BHE E RiE-2 3] =2 20 7 2E |2 |& (B x 2 6-8 |x e) e) 2.7
90 [(&HE BE E = 65 10 £E (& | |R X 2 6-8,7-8| x o) O |O 2.2
91 |&HE BF E & 205 40 £E (& | |R X 2 6-8,7-8| x @) O 2
92 |BHE T IRET = ¥ 40 6 £E (& | |R X 2 6-8 |[x O O 15
93 |BHE T ft£T 3] ¥ 99 14 £E (& | |R X 2 6-8 |x O O 18
94 |&HE I WMFL = ¥ 150 15 £E (& | |R x 2 6-8 |[x O O 38
95 |[&HE I BEREL = ¥ 118 12 £E (& | |R x 2 6-8 |[x @) O 33
9% |BHE T WMET = ¥ 83 8 £E (& | |R x 2 6-8 |x @) O 1.4
97 |BHE T <TI = ¥ 110 1 2FH |2 | (B’ x 2 6-8 |[x O O 24
98 |BTHE I RIE(GESE) E ¥ 80 4 2FH |2 | (B’ x 2 6-8 |x @) O O |25
99 |[&HE I RIBURL) E ¥ 80 4 £E (& | |R x 2 6-8 |[x @) O 1.3
100 |2HE 1EHR aVitER E ¥ 59 6 £E (& | |R x 1 6-8 |x O O 47
101 |B2EHE 1EHR BAER E3] & 38 38 £E (& | |R x 1 6-8 |x O O 34
102 |2HE 1EHR A3tiESR E ¥ 38 8 £E (& | |R X 1 6-8,7-8| x @) O 2.3
103 |BHE = ISR 3] ¥ 80 14 £E (& | |R X - 6-8 |[x @) 5.6
104 |BHE = BEH 3] ¥ 55 12 £E (& | |R X - 6-8 |[x @) 4
105 |2HE B HIRH E ¥ 35 8 £E (& | |R X - 6-8 |[x @) 2.6
106 [&EHE X E3] ¥ 125 15 £E (& | |R 43 |2 x X e) O |O 24
107 |&EHE o E3] & 150 45 £E (& | |R X - 6-8,7-8| X O @) 2.8
108 [&EHE b1 E3] ¥ 270 30 £E (& | |R X - 6-8 |[x O 2.9
109 [&EHE b [A=2 3] #a 5 2E |2 & [BE X - X X O O |O

110 [&HE b i = #a 3 2E |2 & [BE X - 3-5 |x O O

1M |2EHE b2 4 = #a 5 2E (£ [E |BE X - X X O O |O

12 |2HE b HhERF 3] #a 3 2E |2 (& [BE X - 6-8 |[x O O

113 [&HE b M 3] #a 9 2E |2 (& [BE X - 3-5 |[x O O




NO. |XKZ S 25 Eofh [# % (AFEB |kmEza i DR |F 6|1 0R |BREE (a7 (E6ne|S5E |FRMENE (@ | |2023fFF
114 [BEEWI [E E 2 ¥ 97 27 hiEE |E |ER X 3 6-8 |[x O O 2.8
115 [BEEWI [E E<Hhig > 2 ¥ 97 7 BN | | (8] x 3 6-8 |[x O O 3.9
116 [BEEWI [E RE-F 2 ¥ 120 55 2E (£ [E |BE X - 6-8,7-8| X O 2.5
17 [BEEWI [E RE-Y-1E 2 ¥ 40 4 2E |2 (& [BE 38 |2 x x O O |O

118 [BEEWI (E RE-Y-1E 2 ¥ 40 12 £E (& | |R X - 6-7 |[x O O

119 [BEEWI [E RE-1)-H 2 ¥ 40 4 BN |2 | (8] 38 |2 x x O O |O

120 [BEEWEI [E RE-1)-H 2 ¥ 40 12 £E (& | |R X - 6-7 |[x O O

121 [BEEWIL |&F g 2 ¥ 265 10 +F |waun|z B 4 3 x x O O |O 15
122 [BEEWIL |&F s 2 ¥ 265 40 2E |2 (& [BE X - 2-3  |[x O 2.3
123 [BEEWIL |EfT BEHT 2 ¥ 31 4 2E |2 (& [BE X - 6-7 |[x O 6
124 [BEEWIL |[EHT EA N ¥ 31 4 2E |2 |& [BE X - 4-5 |x O 5.3
125 [BEEWIL |[EfT 1BIRT N ¥ 31 4 2E |2 (& [BE X - 4-5 |x O 6.3
126 |ZEHEWI |AX#H=R Ht N ¥ 70 10 £E (& | |R 38 |2 x X e) O |O 2.1
127 |[BEEWI |([AX#HR EREX N ¥ 71 6 2FH |2 | (&’ 38 |2 x X e) O |O 5.2
128 |BEHEWI |AX#H=R DB 2 ¥ 74 5 £E (& | |R 4 2 x x O O |O 16
129 |BEHEWI |AX#H=R DB 2 ¥ 74 20 £E (& | |R X - 6-8,7-8| X O

130 |&EHEBWIL |74 T N ¥ 80 27 2E |2 & [BE 36 |- 5-6 |x @) 2
131 [BEEWI ([E E 2 ¥ 65 6 2E |2 (& [HE |4 - x x O O |O 7.1
132 [BEEWIL ([E E 2 ¥ 65 13 2E |2 (& [HE |4 - 6-8 |[x O O 2.6
133 |[BEEWIL ([E e VN ¥ 50 4 2EH |2 (& [HE |4 - x x O O |O 48
134 [BEEWIL ([E e 2 ¥ 50 6 2EH |2 (& [HE |4 - 6-8 |x O O 1




NO. | K=z FE HFF Eofh [# % (AFEB |kmEza i DR |F 6|1 0R |BREE (a7 (E6ne|S5E |FRMENE (@ | |2023fFF
135 [BEEI% (T BT 3] ¥ 200 15 2E |2 (& [BE 35 |- 6-8 |x O O 2.3
136 [BEEI% (T BT 3] ¥ 10 8 2E [ [ |BE 35 |- x x @) O 1
137 [&EEI% (T BT KT 3] ¥ 200 15 2E (£ [E |BE O - X X O |[O @) 2.8
138 [BEEI% (T BT E #a 2 2F |2 |ff (B X - X X O O 2.5
139 [BEEI% (T #HET-IRER E ¥ 10 8 2E [ [ |BE 35 |- x x O O 1.3
140 (BEEI% (T #HET-RE<KZF> (B ¥ 45 3 2E (£ [E |BER O - X X O |[O O 2.7
141 [BEEI% (T #HET-IRER 3] #a 2 2FH |2 |ff (B X - X X O O 18
142 ([BEEI% (T #HET-IRER 3] #a 3 2FH |2 | (B’ 43 |- x x O O 43
143 [BEEI% (T #HET-BE E ¥ 35 3 2E |2 (& [BE 35 |- x x o |0 O 6
144 [BEEI% (T ET 3] ¥ 145 10 2E |2 (& [BE 35 |- 6-8 |[x O O 2.3
145 ([BEEI% (T EI<&KF> 3] ¥ 145 5 2E (£ [E |BE O - X X O |[O O 43
146 ([BEEI% (T HI5E 3] ¥ 210 20 2E |2 (& [BE 35 |- 6-8 |[x O O 1.7
147 ([BEEI% (T MT 3] ¥ 105 5 2E |2 (& [BE 35 |- 6-8 |x @) O 2
148 (BEEI% (T MI<EF> 3] ¥ 105 5 2E (£ [E |BE O - X X o |[O @) 1.7
149 (BEEI% (T eI BT 3] #a 3 2FH |2 | (B’ 43 |- x x O O 2
150 |ZEHEIE |T BliE-#MT E ¥ 60 15 2E |2 & [BE 35 |2 x x O |0 O 237
151 [fHEI% (I BlhE-#MT 3| =2 60 9 2E £ |&E |HE 35 |- 6-8 |x O O 1.7
152 |ZEHEIE |T Bl - 1A 3] ¥ 40 10 2E |2 (& [BE 35 |2 x x O |0 O 3.9
153 |ZHEIE |T Bl - 1Ew 3] ¥ 40 6 2E |2 |& [BE 35 |- 6-8 |[x O O 43




NO. | K=z S HFF Eofh [# % (AFEB |kmEza i DR |F 6|1 0R |BREE (a7 (E6ne|S5E |FRMENE (@ | |2023fFF
154 |Z50 ®BE KET7 #h ¥ 125 10 £E (& | |R 35 |- x x O |0 O 3.1
155 |Z40 e KEI7 A ¥ 125 10 £E (£ |6 |]’ 3 - x x O |0 33
156 |Z %0 &= KET7 #h ¥ 125 6 2F |2 |ff (B A - x o |0 |[O O 1.7
157 |240 #E e #h ¥ 250 23 £E (& | |R 35 |- x x O |0 O 48
158 |E%0 ®E #E A ¥ 250 17 £E (£ |6 |]’ 3 - x x O |0 48
159 |Z40 #E #E #h ¥ 250 4 £E (& |6 |]R A - X o [0 |O O 48
160 |E%0 BF BF #h ¥ 330 15 £E (& | |R 35 |- x x O |0 O 3
161 |E%0 BF BF #h ¥ 330 25 £E (& |6 |]’ 3 - x x O |0 2.7
162 |E%0 BF BF #h ¥ 330 5 £E (& |6 |] A - X o [0 |O O 14
163 |E%0 HHRPE e #h ¥ 180 10 £EF (& |6 |R 3 - x x O |0 2
164 |E%0 HHRPE e #h ¥ 180 10 £E (& | |R 35 |- x X O |[O O 15
165|240 BRPE B A #w 25 2E |2 | |B 3 - x O |O O |O 15
166 |E%0 E3 [ m RiE #h =2 115 15 £E (& | |R 35 |- x o |0 |[O @) 2.3
167 |EX EFEasa BEE A #a 6 2FH |2 & (B’ 35 |- x x O |[O O 2.5
168 |E%0 EfEasa EE<ER> #h ¥ 115 5 2F |& |#f (B 3 - x x O |[O 2.6
169 |EX0 EEaza RE<@EE> #h ¥ 115 3 £E (& |6 |]R 3 - x x O |0 O 15
170 |E%0 EfEasa E#% A ¥ 115 10 £E (& | |R 35 |- x o |0 |[O O 1.2
171 |EB% EEasa E#H<EHR> #h ¥ 115 7 £E (& |6 |]’ 3 - x X O |0 17
172 (&% EfEaza E#H<miE> #h ¥ 115 3 £E (& |6 |]’ 3 - x x O |0 O 18
173 |EH i B B AR E #h ¥ 220 7 £E (& | |R 35 |- x X O |[O @) 18
174 |E5 iR B AR A ¥ 220 4 £E (& |6 |]R 3 - x X O |0 2.6
175 |E% HhigiBUR ik - $REE #h #a 10 2FH |2 |& (B’ 3 - x X O O 2.5
176 |E%0 HhigiBUR B R #h ¥ 220 4 £E (& | |R 35 |- x X O |[O O 2.5
177 |E% HhigiBUR B R #h ¥ 220 1 £E (&£ |6 |]’ 3 - x x o |0 18
178 |EH HhigiBUR HhiEk - AR h ¥ 220 4 £E (& | |R 35 |- x X O |[O O 18
179 |E% HhigBUR ik - AT A ¥ 220 3 £E (& |6 |]’ 3 - x x O |0 24
180 |EXI MBI M- BIR A ¥ 220 5 £E (& | |R 35 |- x X O |[O O 15
181 |EX i B M- BIR A ¥ 220 2 £E (& |6 |]R 3 - x x O |0 2
182 |EH i B HE-FX A ¥ 220 3 £E (& | |R 35 |- x X O |[O O 2.5
183 |EX g BUR - FX A ¥ 220 3 2FH |2 |ff (B 3 - x x O |[O 2.8
184 |EH0 X DER #h ¥ 55 15 £E (& | |R 35 |- x x O |0 @) 19
185 |EXI X DER #h ¥ 55 25 £E (& |6 |]’ 3 - x x o |0 2.3
186 |EXI X BHE #h ¥ 48 15 £E (& | |R 35 |- x x O |0 O 19
187 |EH X BHE #h ¥ 48 25 £EF (& |6 |R 3 - x x O |0 2.3
188 |EXI X At #h ¥ 172 15 £E (& | |R 35 |- x X O |[O @) 19
189 |EXI X At A ¥ 172 25 2F |2 |ff (B 3 - x x O |[O 2.3
190 (E%0 X FEih #h ¥ 70 15 £E (& | |R 35 |- x X O |[O O 19
191 |E%0 X FEih #h ¥ 70 25 £E (& |6 |]’ 3 - x x O |0 2.3
192|240 o o #h ¥ 315 20 £E (& | |R 35 |- x X O |0 O 2.3
193 |EX o o h = 315 25 £E (&£ |6 |]’ 3 - x x O |0 24




NO. | K=z FE HFF Eofh [# % (AFEB |kmEza i DR |F 6|1 0R |BREE (a7 (E6ne|S5E |FRMENE (@ | |2023fFF
194 |BHEFR E E h = 115 20 2E |2 (& [BE 37 |- x x o |0 [0 |o 42
195 |BHEFR E E < ihigi > A ¥ 115 5 2E |2 (& [BE 37 |- x x o |0 [0 |o 2.6
196 |[EZNEF E i #h = 100 20 2E |2 (& [BE X - X X o |[O O 2.3




NO. | K=z S HFF EAFh | /F |AFES |HREa i [WR ([E#|R R |BIE |[Fee|RT |Ake|EE [FRt/ER |EE | [2023fF%
197 | X EE: h ¥ 72 9 £E (£ |6 |]’ 3 - x x O |0 2.1
198 [fhER X EE: h ¥ 72 2 £E (£ |6 |]’ 32 |- x o |0 |[O O

199 [fhER X EE: #h #a 3 £E (& | |R 32 |- x x O O O |11
200 | X B A # ET |2E |2 |# |BRE x - X O |0 |O @) 2.1
201 [P X A X A ¥ 68 9 £E (& |6 |]’ 3 - x x o |0 1.9
202 [P X A X #h ¥ 68 2 £E (& |6 |]R 32 |- x o |0 |[O O

203 |HhE X A X #h #a =T |2E |2 (6 [BE X - X O |0 |O O 19
204 | X X #h ¥ 70 12 £E (& |6 |]’ 3 - x x O |0 18
205 | X X #h ¥ 70 2 £E (& |6 |] 32 |- x o |0 |[O O

206 |HE X X #h #® =T (2B |2 |# |BE x - X O |0 |O O 18
207 |HE & oS #h #a 55 2F |& |ff (B 3 - X A |O |O (@)
208 | & e #h #a 55 2F |& |ff (B A - X O |0 |O O

209 | & prNEd #h #a 2 2EF (£ |[# |BE x - X O |0 |O O 1.7
210 |hE ®E #E #h ¥ 325 28 £E (£ |6 |]’ 3 - x x O |0 2.9
211 |HIE #E #E #h = 325 4 £EF (& |6 |R 32 |- x o |0 |[O O

212 |HIE #BE #BE h = 325 4 £EF (& |6 |]R 38 |- x o |0 |[O O

213 |hE #BE #E #h #a 3 2EF (£ |[# |BER x - X o [0 |O @) 2.9
214 |hE #BE #E #h #a 10 £E (£ |6 |]’ 32 |- x X O O |O

215 |hE BF BF A ¥ 320 45 £E (£ |6 |]’ 3 - x x O |0 18
216 |hE BF BF h ¥ 320 5 £EF (& |6 |]’ 32 |- x o |0 |[O O

217 |hE BF BH h ¥ 320 2 £E (£ |6 |]’ 38 |- x o |0 |[O O

218 |hE BF BH #h #a 2 2EF (£ |[# |BER X - X O |0 |O O 18
219 [P HRuts Tt - EEX #h ¥ 44 5 £E (& |6 |]’ 3 - x x o |0 1.1
220 | HR#E Bt - B A = 44 1 2E |2 |# |B] x - X o |0 |0 (@]

221 |hE HRuts Hit-EEX #h #a 3 2F |2 |ff (B X - X X o |[O

222 [P HRuts Tt - EEX #h #a 1 2EF (£ |[# |BER x - X O |0 |O @) 1.1
223 [P HRuts Hit-a3a A ¥ 88 1 £E (£ |6 |]’ 3 - x x O |0 15
224 [P HRuts Hit-a3a A ¥ 88 2 £E (£ |6 |]’ X - X o [0 |O @)

225 |hE HRuts Ht-03a #h #a 5 2F |2 |ff (B X - X X o |[O

226 | HR#E Btt-a3a A #® 1 £E |& |# |[BE x - X O |0 |O @) 15
227 |pm HRuts Bt A ¥ 88 6 £E (& |6 |]’ 3 - x x O |0 1.3
228 | HRuts Bt #h ¥ 88 3 2FH |2 |ff (B X - X o [0 |O O

229 |HhE HRuts Bt A #a 4 2FH |2 |ff (B X - X X o |[O

230 |hEm BHR#E Hit-tts A #® 1 £E |& |# |[BE x - X O |0 |O @) 1.3
231 |hEm HR#E Ht-11E A = 45 6 2E |2 |# |B] 3 - x x |10 |O 15
232 |hEm HR#E Ht-11E A = 45 1 2E |2 |# |B] x - X o |0 |0 (@]

233 |hE HRuts Hit-#1E #h #a 4 2F |2 |ff (B X - X X o |[O

234 |h HR#E Hit-11E A #w 1 £E |& |# |[BE x - X O |0 |O O 15
235 |hE ER BEX h ¥ 70 10 £E (& |6 |]’ 3 - x x o |0 12
236 |HE ER RS #h #a 5 2FH |2 |ff (B X - X O |O @)

237 |HIE ErR BEX #h # 2 2FH |2 | (B’ A - X A |O O

238 |HIE ErR BEX #h A 3 2EF (£ |[# |BER X - X O |O O 12
239 |HIE ErR BEX #h # 2 2FH |2 | (B’ X - X O |O O

240 |HE ER E-HE A = 70 10 £E (&£ |6 |]R 3 - x x O |0 1.3
241 | ER E-#E #h (A 5 2FH |2 |ff (B X - X O |O O

242 | ER E-#E A . 2 2FH |2 | (B’ A - X A |O O

243 | ER E-#E #h a 3 2EF (£ |[# |BE x - X O |O O 1.1
244 | ER E-#E A A 2 2FH |2 | (B’ x - X O |O O

245 | ER E-G A #w 3 2EF (£ |[# |BE X - X O |O O 12
246 | ER H- =& #h ¥ 45 6 £E (& |6 |]’ 3 - x x O |0 12
247 |HIE ErR H- = A . 3 2FH |& |ff (B X - X O |O O

248 |HIE ErR H- = #h (A 1 2FH |2 | (B’ A - X A |O O

249 |HIE ErE H- =& #h (A 1 2EF (£ |[# |BERE X - X O |O O 1.3
250 [P E H- =& A “® 1 2E |2 |# |B] x - X O |O (@]

251 |hE ER E-EA A ¥ 38 7 £E (& |6 |]’ 3 - x x O |0 1.1
252 |HhE ER E-BEA #h A 3 2FH |2 |ff (B X - X O |O O

253 | E E-BA A a 1 2E |2 | |B A - X A |O O

254 | ER E-EA #h a 1 2EF (£ |[# |BER x - X O |O O 1.1
255 | E E-BA A “® 1 2E |2 |# |B] x - X O |O (@]

256 |HE ER ESRREIN A ¥ 45 7 £E (& |6 |]’ 3 - x x O |0 1.1
257 |HhE ER E-Eik #h #a 3 2FH |2 |ff (B X - X O |O O

258 | ER E-Eik A #w 1 2E |2 | |B A - X A |O O

259 | ER ESRREIN #h #a 1 2EF (£ |[# |BER x - X O |O O 12
260 [ ER E-Eik A #w 1 2E |2 |# |B] x - X O |O (@]

261 |hE HBEBUER K #h ¥ 220 15 £E (£ |6 |]R 3 - x x O |0 2.1
262 |hE HBEBUER K #h ¥ 220 4 £E (&£ |6 |]’ 32 |- x o |0 O

263 | HBEBUER K #h ¥ 220 2 £E (&£ |6 |]’ 38 |- x o |0 O

264 | BEBX Bk #h #a 2 2E |2 |#f [BE X - X o |0 |[O O 2.1
265 [HE I IR A ¥ 175 18 2E |2 |#f (B 3 - X X O O 2.9
266 |HE DER DER #h #a 12 2F |2 |ff (B X - X X o |[O

267 |HE DER DER #h #a 2 2EF (£ |[# |BER X - X O |0 |O O 2.9




NO. | K=z S HFF EAFh | /F |AFES |HREa i [WR ([E#|R R |BIE |[Fee|RT |Ake|EE [FRt/ER |EE | [2023fF%
268 | T s #h ¥ 86 10 £E (& |6 |]R 3 - x x O |0 18
269 [P I s #h ¥ 86 2 £EF (£ |6 |]’ 32 |- x o |0 O

270 [P I s #h ¥ 86 1 £E (& |6 |]’ 43 |- x o |0 O

2711 =R I s #h #a 1 2EF (£ |[# |BER x - X o |O @) 18
272 |HhE I s A #a 3 2FH |2 |ff (B X - X X o |[O

273 |hE T - #h ¥ 86 7 £E (& |6 |]R 3 - x x o |0 17
274 |hE I - #h ¥ 86 3 £E (& |6 |]’ 32 |- x o |0 O

275 |HhE I - A ¥ 86 1 £E (& |6 |]’ 43 |- x o |0 O

276 |HE I - #h #a 1 2EF (£ |[# |BERE x - X o |O O 1.7
277 |HhE I - #h #a 3 2FH |2 |ff (B X - X X o |[O

278 |HhE I BE #h ¥ 86 10 £E (& |6 |]’ 3 - x x O |0 1.3
279 |HhE I BE h ¥ 86 2 £E (& |6 |]R 32 |- x o |0 O

280 |HE I BE #h ¥ 86 2 £E (& |6 |]R 43 |- x o |0 O

281 | I BE #h #a 1 2EF (£ |[# |BERE x - X o |O @) 1.3
282 |HhE I BE #h #a 2 2F |& |#f (B X - X X o |[O

283 [P T AT #h ¥ 62 12 £E (& |6 |]R 3 - x x o |0 15
284 [pE T AT #h ¥ 62 1 £E (& |6 |]’ 32 |- x o |0 O

285 [ T AT #h ¥ 62 1 £E (& |6 |]R 43 |- x o |0 O

286 |HE I AT A #a 1 2EF (£ |[# |BE - X o |0 O 15
287 |HE I AT #h #a 3 2F |2 |ff (B X - X X o |[O

288 | AR—YRE | RRH A ¥ 160 22 2FH |2 |ff (B 3 - x x o |0 2.1
289 | AR—YRE | RRH #h ¥ 160 =) |2E |2 |6 (B X - X o |0 |[O

290 |HhE AR—YRE | RRH A #a 15 2FH |2 |ff (B X - X X o |[O O

291 [ AR—YRE | RRH A # ET |2E |2 |# |BRE x - X o |0 |0 (@) 2.1
292 |hE AR—YRE | RRH A #a =T |2E |2 |6 |[BE X - X o [0 |O O

293 | RAR—YRE | RRE A ¥ 110 19 2F |2 |ff (B 3 - x x O |0 2.2
294 | AR—YHZE (XK A = 110 - |[&E |& |# |8 x - X o [0 |[O

295 | AR—YRE | RRE A #a 10 2FH |2 |ff (B X - X X o |[O @)

296 | AR—YRE | RRE #h #a =T |2E |2 (6 [BE X - X o |0 |[O O 2.2
297 |HhE AR—YRE | RRE #h #a =T |2E |2 (6 |[BE X - X o [0 |O O

298 | AR—YRE |RRT #h ¥ 86 10 £E (& |6 |]R 3 - x x O |0 34
299 | AR—YRE |RRT #h ¥ 86 =) |2E |2 |6 (B X - X o |0 |[O

300 | AR—YRE |RRT #h #a 7 £E (&£ |6 |]’ X - X X o |[O @)

301 | AR—YRE |RRT #h #a =T (2B | |# |BE X - X o [0 |O O 34
302 |HhE AR—YRE |RRT #h #a =T |2E |2 (6 |[BE X - X o [0 |O @)

303 | AR—YRE |FEEX A ¥ 310 17 £E (& |6 |]’ 3 - x x o |0 12
304 | AR—YRE |FEEX #h ¥ 310 =) [&#B |2 |# (B8 x - X o [0 |O

305 | AR—YHZE [FREX #h #a 5 2F |2 |ff (B X - X X o |[O @)

306 [ AR—YRE |FEEX A #w ET |2E |2 |# |BRE x - X o |0 |0 (@) 12
307 |HhE AR—YHZE [FREX #h #a 4 2E |2 |#f [BEE X - X o [0 |O O

308 | AR—YRE (b #h ¥ 80 14 £E (£ |6 |]’ 3 - x x o |0 3.6
309 | AR—YRE (b #h ¥ 80 =) [&#B |2 |# (8] X - X o [0 |O

310 |hE AR—YRE (b #h #a 7 £E (& |6 |]’ X - X X o |[O O

311 |hE AR—YRE (b #h #a =T (2B |2 |# |BE X - X o [0 |O @) 3.6
312 |hE AR—YHZE (b #h #a =T |2E |2 (6 |[BE X - X o [0 |O O




NO. | K=z s HFF Eofh [# % (AFEB |kmEza i DR |F 6|1 0R |BREE (a7 (E6ne|S5E |FRMENE (@ | |2023fFF
313 |HhEp EE &R ER #h = 140 24 2F |& |2/#[R 3.0/ % |- X X O |0 00 12
314 |hEp EE &R E A ¥ 140 6 £E (& | |R - X o |[O 1
315 | EE &R ER #h #a 19 2E (£ [E |BER - X X o |[O 1.1
316 [FpER AX Eaar s A ¥ 400 10 £E (& | |R - X o |O 1
317 |HhER AX BB #h ¥ 70 8 2E |& |2/#[1R 3.0/ x|~ X X O |0 00 12
318 | AX B A #a 12 2E (£ [E |BE x - X X o |[O 1.1
319 [dEp AX I A ¥ 90 8 2E (& [##|1] 30/ %[~ X X O O 00 2.9
320 |HER AX DER A #a 7 2E |2 (& [BE x - X X o |[O 2.3
321 | AX BE #h ¥ 80 8 2F |& |2/#[1R 30/ % |- x X o |0 00 12
322 [pER AX BE A #a 7 2E (£ [E |BE x - X X o |[O 1.1
323 [mER AX A A ¥ 70 8 2EH (& [##|1] 3.0/ % |- X X O O 00 19
324 | AX A #h #a 7 2E (£ [E |BE x - X X o |[O 1.4
325 [dER AX FEith A ¥ 90 8 2EH (& [##|1] 30/ %[~ X X O O 00 24
326 |HER AX i #h #a 7 2E (£ [E |BER x - X X o |[O 16
327 | BEIER #E A ¥ 300 33 2E |& |2/#[R 3.0/ |- x x o |o 0.0 16
328 |HhER BEIER #E #h ¥ 300 15 £E (& | |R - X o |O 1
329 |HhER BEIER #E #h #a 15 2E (£ [E |BE - X X o |[O 2.3
330 | BHR%E B#% A 2 60 2 2F |& |2/#[1R 30/ x|~ X X o |[O 00 3
331 |HhER HRHEE I #h ¥ 60 2 2FH |2 | (B - X o |0 1
332 [ BR&#E bk A #® 1 2E |2 |& |BE - X x |0 |0 3
333 | BHR%E K #h #a 1 2E (£ [E |BE - X X o |[O 3
334 |HhEp BHR%E Bt h ¥ 80 5 2E |& |2/#[R 3.0/ x|~ X X o |0 00 15
335 |HER HRHEE 9 #h ¥ 80 2 2FH |2 | (B’ - X o |0 1
336 | HR%E 9 #h #a 2 2E (£ [E |BERE - X X o |[O 1.3
337 |[HpER [EREY ISE #h ¥ 110 5 2F |& |2/#[1R 30/ % |- x X O |0 00 1.3
338 [HpEB [EFREY ISE #h ¥ 110 2 £E (& | |R - X o |O 1
339 |HE IGAEY ISE #h #a 5 2E |2 (& [BE - X X o |[O 3.5
340 (R [EREY RE #h ¥ 110 5 2E |& |2/#[1R 30/ % |- x X o |0 00 1.7
341 [HhER IEREY RE #h ¥ 110 2 £E (& | |R - X o |O 1
342 | [EFREY RE #h #a 5 2E (£ [E |BE - X X o |[O 18
343 [HpER [EREY BR-EX h ¥ 80 7 2F |& |2/#[R 30/ x|~ X X o |[O 00 2
344 (R IEREY BR-EX A #a 3 2E (£ [ |BERE x - X X o |[O 2
345 [ [EFREY BX-BM A ¥ 60 5 2F |& |2/#[1R 30/ % |- x X O |0 00 1.4
346 [FpER IGAEY BX-BM #h ¥ 60 2 2FH |2 | (B - X o |0 1
347 [HpER [EREY BX-BM A #a 3 2E (£ [ |BERE - X X o |[O 15
348 | T ==y #h 2 720 12 £E (& | |R - X o |O 1
349 (R T ISk #h ¥ 90 5 2F |& |2/#[R 30/ x|~ X X o |[O 00 1
350 (R I It 1E #h #a 3 2E (£ [E |BE x - X X o |[O 1
351 (& T BT A ¥ 160 1 2EH (& [##|1] 30/ %[~ X X O O 00 1.4
352 |HhER I BT #h #a 7 2E (£ [E |BE x - X X o |[O 2.8
353 [pER T BE #h ¥ 110 7 2F |& |2/#[R 30/ % |- x X O |0 00 15
354 | I - #h #a 7 2E (£ [E |BE x - X X o |[O 2.1
355 [FER T - A ¥ 120 9 2EH (& [##|1] 3.0/ % |- X X O O 00 18
356 |HER I - #h #a 4 2E (£ [E |BE x - X X o |[O 43
357 (& T BEY A ¥ 160 1 2EH (& [##|1] 30/ %[~ X X O O 00 1.3
358 |HhER I BEY #h #a 7 2E |2 (& [BE x - X X o |[O 4
359 |[rpER T #MET #h ¥ 80 5 2E |& |2/8#[1R 30/ x|~ X X o |[O 00 1
360 | I #ET #h #a 33 2E (£ [E |BERE x - X X o |[O 2
361 |HER EmEREE (R #h ¥ 80 5 2E |& |2/#[1R 3.0/ x|~ x X O |0 00 55
362 |HER EmEREE (R #h ¥ 80 2 2FH |2 |& (B - X o |0 1
363 |HE EmEREE (R #h #a 5 2E |2 (& [BE - X X o |[O 3.6
364 [FpER EmEREE KB h ¥ 60 5 2F |& |2/#[1R 30/ % |- x X O |0 00 25
365 |HER EmEREE KB A ¥ 60 2 2FH |2 |& (B - X o |0 1
366 |HE EmEREE KB A #a 3 2E |2 (& [BE - X X o |[O 15
367 |HER EmEREE |RE #h ¥ 100 5 2F |& |2/#[1R 30/ % |- x X o |0 00 45
368 |HER EmEREE |RE #h #a 5 2E |2 (& [BE x - X X o |[O 32
369 |HE EamEEEE 1R #h ¥ 40 4 2F |& |2/#[1R 3.0/ x|~ x X o |0 00 2.8
370 |HER EmEEEE 1R A #a 3 2E |2 (& [BER x - X X o |[O 2.3
371 |HhER EamEREEE | ER #h ¥ 40 3 2F |& |2/#[1R 30/ x|~ X X o |[O 00 7
372 | EamEREE | ER A #a 2 2E |2 (& [BE x - X X o |[O 7.5
373 |HhER EamEEREE BT A ¥ 40 5 2E |& |2#[1R 3.0/ x|~ x X o |0 00 16
374 |hER EamEREREE BT A #a 3 2E (£ [E |BERE x - X X o |[O 1
375 (HhE BT A0l A ¥ 80 6 2EH (& [##|1] 30/ %[~ X X O O 00 1.4
376 |HER BT AlQ A #a 3 2E (£ [E |BE x - X X o |[O 2
377 |HEB BT F A ¥ 80 6 2F |& |2/#[1R 3.0/ x|~ X X O |0 00 1.1
378 |HE BT F A ¥ 80 2 2FH |2 | (B - X o |0 1
379 |HhER BT F A #a 3 2E (£ [E |BE - X X o |[O 1
380 (R BT L) A ¥ 40 6 2E |& |2/#[1R 3.0/ x|~ X X o |0 00 1.4
381 | BT L) A ¥ 80 2 £E (& | |R - X o |O 1
382 | HT k)] #h #a 2 2E (£ [E |BERE - X X o |[O 2




NO. | K=z #E HFF EAFh | /F |AFES |HREa i [WR ([E#|R R |BIE |[Fee|RT |Ake|EE [FRt/ER |EE | [2023fF%
383 |(BEEHNEE [SEEE B h ¥ 50 10 2E |2 |#f [B’E 3 - x x O |0 1.1
384 |BEHEHNEE |SEEE EH A #w 5 £E |& |# |[BE x - X O |0 |O O 12
385 |BHESEEE |SEE BEH #h #a 2 2E (£ [E |BE X - X X o |[O O 1
386 |BHESEEE |SEE E: | #h ¥ 130 28 2E |2 |#f [B’E 3 - x x o |0 1.3
387 |BHESNEEE |SEE E: | A #a 12 2EF (£ |[# |BE X - X O |0 |O @) 1.2
388 |BHESEEE | EE E: | #h #a 9 2E (£ [E |BE X - X X o |[O O 2
389 (BEEHNEE [SEEE B S #h ¥ 220 48 2E |2 |#f [BE 3 - x x o |0 12
390 |BHESNEEE | EE BEXK A #a 22 2EF (£ |[# |BERE X - X O |0 |O O 1.3
391 |BEHEHNEEE |SEE e S A #w 13 2E |2 |& |BE x - X O |0 |O O 15
392 (BHENEE [SEEE s #h ¥ 50 10 2E |2 |#f [BEE 3 - x x O |0 1.1
393 |BEHEHNEEE |SEE s A #w 5 £E |& |# |[BE x - X O |0 |O O 1.1
394 |BHESNEEE |SEE & #h #a 2 2E (£ [E |BE X - X X o |[O O 1
395 (BEEHNEE [SEEE 7 #h ¥ 50 10 2E |2 |#f [B’E 3 - x x O |0 1.1
396 |BHESEEE | EE 7 #h #a 5 2EF (£ |[# |BE X - X O |0 |O O 1.1
397 |BHESNEEE | EE 2 #h #a 2 2E (£ [E |BE X - X X o |[O O .
398 |BEEHNEE [BRKAERE VAL A ¥ 85 17 2E |2 |#f [B‘E 3 - x x O |0 1.1
399 (BHENEE [BRKAERE VAL A #® 9 £E |& |# |[BE x - X O |0 |O @) 12
400 |(BEESNEE [(BEKERE VAL A #® 5 2E |2 |& |BE x - X x |0 |O @) 1.3
401 |2 EHENEE | RRER VAL A # ET |2E |2 |# |BRE x - X x |0 |O O 19
402 |BEEHNEE [(BRKERE J-E A ¥ 85 17 2E |2 |#f [BEE 3 - x x O |0 12
403 |2 EHENEE | RRAER J-E A #w 9 £E |& |# |[BE x - X O |0 |O O 1.4
404 |BHESNEE |RKER g-E #h #a 5 2E (£ [E |BE X - X X o |[O O 2.2
405 (&G EHNEE [(BRKERE E#% A ¥ 85 17 2E |2 |#f [B’E 3 - x x o |0 1.3
406 |G EHNEE [(BHKERE E#% A #® 9 £E |& |# |[BE x - X O |0 |O O 18
407 |BEEHNEE [(BRKER E#% A #® 5 2E |2 |& |BE x - X x |0 |O O 2
408 (&G EHEE [(BRKERE ELE: 3 A ¥ 85 17 2E |2 |#f [B’E 3 - x x O |0 12
409 (&G EHNEE [(BHKERE EE: S A #® 9 £E |& |# |[BE x - X O |0 |O O 12
410 |BEEHNEE [(BHKER EE: S A #w 5 2E |2 |& |BE x - X x |0 |0 O 1.1
a1 |BEHEHNEE [EHEREE EAR #h ¥ 50 10 2E |2 |#f [BEE 3 - x x O |0 1
412 |BHESNEE (HEREE EAR #h #a 5 2EF (£ |[# |BERE X - X O |0 |O O 12
413 |BHESNEE (HEREE EAR #h #a 2 2E (£ [E |BE X - X X o |[O O 1
414 |BEHEHNEE [HEREE % #h ¥ 90 18 2E |2 |#f [B‘E 3 - x x o |0 1.1
415 |BEHEHNEE [HEREE % #h #a 10 2EF (£ |[# |BE X - X O |0 |O O 1.3
416 |BEHEHNEE [HEREE % #h #a 6 2E (£ [E |BE x - X X o |[O O 1.4
417 |BEHEHNEE [EREE % A #® =T (2B |2 |# |BE X - X X o |[O @) 1.4
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NO. [KZ s HFF Eofh [# % (AFEB |kmEza i DR |F 6|1 0R |BREE (a7 (E6ne|S5E |FRMENE (@ | |2023fFF
449 |RHEER ERREZE E& #h 2 140 35 2E (£ [E |BE x - X x |O O |O 18
450 |EEHEER ERREZE E& #h 2 140 15 2EF (£ |[# |BE x - X x |O o |O 18
451 |ERHEER ERREE E& #h #a 20 2EF (£ |[# |BER x - X x O |O O |51
452 |ERHEER ERREZE Ei& #h #a 15 2FH |2 |&E (& X - X X o [0 |0 |O O (94
453 |EHHEER ERREE P4 h = 90 20 2E (£ [ |BE X - X X O o |O 2.2
454 |FRHEER ERREE P4 h 2 90 10 2EF (£ |[# |BE x - X x |O O |O 2.2
455 |ERHEER ERREE P4 #h #a 10 2EF (£ |[# |BE X - X x O |O O |58
456 |FRHEER REEE i #h = 135 35 2E (£ [E |BE X - X X O o |O 2
457 |ERHEER REEE i A =2 135 =T (2B |BE | (B x - X X O O |O -
458 |FRHEER REEE B #h #a 5 2F |2 |ff (B X - X X o |[O @) O |[6.3
459 |BRHEER REEE B #h #a 5 2F |2 |ff (B X - X X o |[O O 3.8
460 |BEHEER REEE Jn-1E h = 115 6 2E (£ [E |BER X - X X O o |O 16
461 |BRHEER REFE AN (3 #h ¥ 115 =T |2E |2 (6 |[BE X - X X O O |O

462 |FRHEER REEE AN (3 #h #a 3 2FH |& |ff (B X - X X o |[O O o |17
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